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It=4"- 2, (C,)

T =5x +x5 =4 (B,c)

(A, Al

&(4) 12 E1 =- x2,2k 4MB1=*82E, (A,B)

:In3 (A,2)

(i) A +A - B

(ii) A +B
-B

It:ti.2, 29Te18,

-x +1 x5 =

1x El,

94 =5x+ Ix =xxy
=35



3/28

&
C-2 40 ↳

S

& II) 2HEFT,t=2E, ER*e
A- - B3 =1,2I

⑧ I2, 6, 10 S

Fia x"k i2"ERII"I =27;ts - W =3,4
-

--

Eg t 179 1& 2"
&

E ↳

=H
-

w
2

34 50? 8e
(2) Ea22E, ita I

1, 3, 5, 7, 9, 11

& x5" x 2"ER17"11-0 =REHEGIENEOR9 17, & Hal EI 2YE
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=2,29(X=k) =2,k)4(2 k) - 4(x = k + 1)) (a)

E(x) =b3(= k) =2,234(x2k) -9(x2-k+1))
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-9(x = 1) + (4-1)f(X-2) +.. + (2a -1)9(=a)

=E,949(= f) - ( - 2k +1)9(x = k)) =[12k -1) 9(X = k)
k=1

-[,(2k - 1)4(X =k)

E

(2)

&
(a) a =u*xjk-1zEE"n",

a-12k- 1 -!
= att

aCk-1 -kts

&
(b) x=1, . . , , ..., a2En82,

E(x)
=E,9(x=k)= hatt
=A((a+ 1)/a - 1kla+1) (
=a

+1 - Ia - t=

&(c) E(x)
=(8k-1)3(x=k) =Ektall
=>E(-2t+ 12a+32-

-i) - 2. a(a+1) (2a+1) +12a+3) -ala+1) -a2- a
-() - 54(2 +3a + 1 +14(2a2 +5a +3) +()-a - 1)4
=() - 48 - 60 - z +6a2 + 15a +9 - 60 - 64
=I(2a +3a +1)

:V(x)
=

E(xY - E(x)2
=1492+6a+2) -Batbat3)=12



72- 5

(1) I& 14,N= loath *nz",
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